The Algorithm

1. Take a sharp square 60Hz pulse of 4V height and 8 u sec width.
2. Divide the signal into two parts one going to trigger and another going to channel-1.

8l sec

3. Take the data with DAQ at 64 KHz both in Synchronized RGM and Non-synchronized
RGM.
4. For sufficient enough events (5000 for example) calculate the probability of finding
the very first entry(entry after header) of the event which lies near 4V (in an small
interval near 4V).
Where , Probability=(Number of first entries close to 4V) /(Total number of events)
In Sync mode expected probability= 1
In non-sync mode expected probability= % (Since 8 micro volt is %2 of 16 micro volt)

If DAQ is running at 64KHz, then the interval between two entries is about 16 u sec .
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